S AN 3R H B R A 1Al

BEXANEARENAREEW
1.4 x>0,y>0,H x+y=18,0 xy & KME AN

A.80 B.77 c.81 D.82
2.0 f (x)= x+%—2(x <0), U f(x)H
A5 KAE O B.5/MHE 0 C.i K1E -4 D.5/MHE -4

3.4x>0,y>07"72 “X+522”El’\] ( )
Xy

AFET AN BT B.LE AN T8 26 A
C.oe At D.BEANTE 7 tBAN b BEA A

4.ER10 < x <10 x(3—3x) B 1 & KAL) x BIME

A

Wk

B.1 C.
2

Dlw
o
w N

5.4 2% +2Y =1, x+ y FIHUE Yl 2

A.[0,2] B.[-2,0] C.[-2,+w) D. (=00, —2]

6.4 a>0 7% T x A% x+xi_1 > 57 (1,+<0) _FAE R, I a i 552/ ME

A.16 B.9 CA4 D.2
75081 x> 0 JU B # £ (x) = ijl (O SNIEbY

1
A.E B.1 C.2 D.4

8 A7) T B i, CLRIAE AR x 5 PN, B e 46 T 28 (1 25 b 9% F AR A y (R
BT T0) 5 X R RECR R y = 4X2 +64 AT I A IO AP 3048 2 B 1K, U ke v
e AR I AFERR x

A3 B.4 C.5 D.6



S AN 3R H B R A 1Al

9.8 M x>0,y>0,H x+4y =1,)”\Ul+1 [t/ ME R
Xy
A.8 B.9 C.10 D.11
10,2 A 1E 523 x, y‘iﬁ%&%+%=l,ﬂﬁ%iﬁx+%< m? — 3m A #5250 m (B

HL 2

A.(-14) B. (—o0,~1)U(4,+e0) C.(~4,1) D. (o0, ~4) U (L, +o0)

#
N
b=
P
N
=



